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=) UPCOMING ONLINE BATCHES

07 DEC 2022

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

December 2022

14 DEC 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

14 DEC 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

ENGLISH

21 DEC 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

28 DEC 2022

02:00 PM to 04:00 PM

BANK ONLINE LIVE CLASS

BENGALI

& www.mahendras.org e \ 7052477777/7052577777



SSC GD 2022-23

@mohit..9476 18 hours ago

Thank-you Sir for this Wonderful and Amazing Class Session of today.. o0 =
as

My Answers for today's Homework are like-

1). Option D == 6000.

As,

60% + 60% - 50% == 330.

1/12[70%] == 350.

10% == 5*12 ==600.

100% == 6,000.

2). Option B == 71.72 kmph
A

()

Avg speed == 2*B0*65/145.

I'IFI'_‘JE] | 7
Thank-you So Much, Sir Ji.. &
Show less

5 CH Reply
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One-third of the goods are sold at 15% profit, 25% of the goods are sold at
20% profit, and the rest of the goods are sold at 10% loss. If a profit of 350 is

earned in the entire transaction, then the original value of the goods (in %) is:

T TETs TEqatt ol 15% ST UX ST ATAT 8, 25% TEGST bl 20% T T a4
SATAT &, 3T 919 TEG3AT T 10% T U AT ATGT g1 ATS U TG T T350 6T ATH

AR ToRaT ST &, AT TEqRAT T TTEA (T Hed (T ) Rt 82

a) 5,400
b) 7,200
c) 9,000
d) 6,000
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The distance between two stations A and B is 700km. A train covers the
journey from A to B at a speed of 80 km/h and returns back to A with a
uniform speed of 65 km/h. The average speed of train during the whole

journey, is closes to:

T A SR B o sfter 61 gl 700 Toret 31 T YISt A & B ek shi g8 6 80
Terwt/ereT <hY T & 9= SRt § 3T 65 TorHi/eeT shl TerE| T TTd & A W aTad
itedt 31 U ATAT ok TR o <h oftera et foheten feheaw 82

a) 74 km/h

b) 71.72 km/h
¢) 72.7 km/h

d) 70.73 km/h
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A cistern has a leak which would empty it in 6 hours. A tap is turned on which
admits 10 litres of water per minute into the cistern. When it is full it is now
emptied in 10 hours. What is the capacity (in litres) of the cistern?

Uk ZehT W Ueh O € ST 39 6 He W @Teft ot ST 81 Uk 76T Shil aTe] ehdT STaT §
ST It THAE 10 e UTHT Sehl H 9T 8| TT A8 ATl g Al AT 3H 10 e T
AT T {2t ST 81 deht Shi &1HaT (et /) T 8?2

a) 8000
b) 9000
c) 8500
d) 10000
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Ifx:y=35:2, then what is (8x - 9y) : (14x - 13y)?
e x:y=5:27%, ar (8x - 9y) : (14x - 13y) FT &2

a) 37:29
b) 29 :37
c) 1:2
d 2:1



SSC GD 2022-23

A man covers a certain distance at a speed of 60 km/h and returns at a speed of

40 km/h. What is his average speed (in km/h) for the entire journey?

Ueh ATk Ueh (fara St et 60 Torefiyerer oy wifar & oar sntat & @i 40 foreft/eier <t
T | O ATAT 2| O AT H ITehT e e (ohwi/eer §) 82

a) 48
b) 40
c) 12
d) 50
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The ration of the number of girls and boys in a school is 8 : 7. If the percentage
increase in the number of girls and boys is 10% and 20% respectively, what
will be the new ratio?

Tk TheT W oTSiehal 3T TSl S HEAT T SAAUTA § : 7 1 ATS TS(ehAT HI AASHhI
hT AT § Ufavta gieg shavw: 10% R 20% &, T TAT JTATd T FH?

a) 14:19
b) 22:21
c) 20:23
d) 13:11
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A shopkeeper bought 60 kg of rice at ¥42 per kg and mixed it with 120 kg rice
at 52 per kg. At what rate (T per kg) should he sell the mixture to gain 20%?
Teh SRR 60 forar =maret 42 Toar wifa femmm <6t o0 & wliean @ o 3@ 52 Tud
Tt TeRuT hT 22 ok 120 ToRIT ST o AT THEAT T30 1T 81 20% T AT ITH i
o o1y 30 faeror oAt fohe X (Fuar wfdr fomam) o) ST =miRe?

a) ¥53.25
b) ¥54.82
c) %58.40
d) %55.50
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An article was sold for 8800 which is 5/7 of its cost price. The loss per cent is:

U ] ST 8800 FUL H AT SATAT & AT 36k THT He T 5/7 Bl T JT91a &

a) 316/7%

~ b) 28 4/7%
({ D) > c) 225/7%

S d) 123/7%
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If the difference between the simple interest and compound interest on a sum of
money invested for 2 years at the rate of 15% per annum (interest compound
annually) is 225, then what is the sum?

TS 15% TiT I (ST ATk WATNTA §) Shi ST T 2 T ok ToAU a9 it 18 AT
TTLRUT ST 3R AhATeg SATH ok FIT T 3T 225 YA g, AT AT T &2

a) ¥8,000
b) 9,500
c) %10,000
d) %9,000
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Two ropes, one 8 m long and the other 14 m long are to be cut into pieces of the

same length. What will the maximum possible length of each piece be?

Teh 8 Wit oiell 3R gal 14 Hie wielt 1 {EAl shl U TS o Zeohsl W e

ST Bl Tk Zohg ohl STTEIhaw TS TaTg T ERIT?

a) lm
b) 4m
C) 2m
d) 6m
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An electric heater was sold at a profit of 12%. If its cost had been 5% less and
it had been sold for ¥180 less, the profit would have been 10%. What is the cost

price of the electric heater?

Ueh IR BT ol 12% oh AT UX ST 4T 1 AT THRT 37T 0T 5% W Sl

TR TH 180 TUY HH W AT SATAT, A ATH 10% FIAT &l FATHEHR &1 T 3HT Ao d
FIT 2

a) ¥2,250
b) ¥2,380
c) 2,400
d) 2,000
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(=B} gyly



Thanks For

WATCHING

Sbscrlbe' L




